SN S
ZE: JISHYY FWS UL OF BUB I(HIH(SYHYLN/5Y - 5EF)
el Ji=Egy = CEREED
RA - BE - SHAEH) - HRA - BAS ol &t G o DS
S=49 31,589,034 26,022,4% 5,566,538
= 12,791,932
[ 600,000
Il 3,437,298
[ 14,759,804
Zii-@%g)gﬁif 2 o BME JIERE(SHHLA 31,407,135 25,841,276 5,565,859
= 12,791,932
= 600,000
Il 3,437,298
= 14,577,905
=gy =8 20,959,504 20,975,627 N16,123
= 12,358,762
J| 2,868,498
< 5,732,244
JIEZEY oY ¥ 2EAE Y S XY(=1) 5,895,624 6,762,878 A867,254
= 5,021,165
= 874,459
308 AXIHMSOIA 5,8%,624 6,762,878 AB67,254
= 5,021,165
= 874,459
01 XN EES 5,895,624 6,762,878 AB67,254
OJt=2Y o2 & %2 2 S N 5,895,624
= 5,021,165
= 874,459
SR olgef X2 192,090 315,000 A122,910
308 AHXIEMSOIH 192,090 315,000 A122,910
01 MRHHBAEES 192,090 315,000 A122,910
O3It=E olgs N& 192,090
gt 2 29 ZAMEH 8 XNF(=1) 25,000 60,000 /35,000
= 25,000
403 AXIEMSA=0l& 25,000 60,000 /35,000
= 25,000
01 XISHH A =2 25,000 60,000 /35,000
ogdxty & 24 JAEH S X 25,000
= 25,000
IIEPUL AR Y=R LA oA X (=1) 1,917,700 1,857,500 60,200
Jl 1,151,000
== 766,700
307 212t01& 1,917,700 1,857,500 60,200
Il 1,151,000
= 766,700
02 LB HAHE L 1,917,700 1,857,500 60,200
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SN S
A JIRMEY FFS 2 ol B2 JBRF (sl b/ sY - sE)
Rl IIEEY =4 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OII=AYLAXN A2 A 1A X&H 1,917,700
Jl 1,151,000
== 766,700
godolmet X1 XAE(20) 306,133 309,517 A\3,384
Il 235,487
= 70,646
403 AXIEHMSAH=201H 306,133 309,517 A3,384
Jl 235,487
= 70,646
01 AXIEHM A= 2 £ 306,133 309,517 A3,384
oggolzet 4X| X2AL 306,133
Jl 235,487
=S 70,646
ASF, HPAI, FD &AIZSHA 2= 206,000 305,000 /99,000
202 04l 6,000 5,000 1,000
01 =LHOHI 6,000 5,000 1,000
OYANLAMA 7= 6,000
206 M=H| 200,000 300,000 100,000
01 M=8l 200,000 300,000 100,000
OASF, HPAI, FD &AIZSHMA 2= 200,000
AXE 243(21) 4,556,250 3,037,500 1,518,750
= 4,050,000
= 506,250
308 XXM SOIA 4,556,250 3,037,500 1,518,750
= 4,080,000
< 506,250
01 XN B2 LS 4,556,250 3,037,500 1,518,750
axzE 2ds 4,556,250
= 4,080,000
= 506,250
S=49 - UYL - S=ES UISsE ML 5,500 10,700 15,200
201 2= 5,500 10,700 25,200
01 At22t2lt] 5,500 10,700 25,200
ogs 2d WS 5,500
HE - SH - LS AE 2802 1,008, 141 1,909,628 A901,487
202 04l 6,000 5,000 1,000
01 =LHA LI 6,000 5,000 1,000
OJtEds g2 = 6,000
308 AXIHSOIA 1,002, 141 1,904,628 A902,487
01 HAHHBSEEXS 1,002,141 1,904,628 A902,487
OXHHA Al 2GXI 1,002,141
IIEZ XA 91,200 91,200 0
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AN SSYH
A JIRMEY FFS 2 ol B2 JBRF (sl b/ sY - sE)
Rl IIEEY =4 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
308 XXM SOl 91,200 91,200
01 XN BSELES 91,200 91,200
onsdz X2 91,200
JIEHEY gy 243 A& 173,939 198,789 N\24,850
308 AXIHS0IA 173,939 198,789 N\24,850
01 HAHHBSEEXS 173,939 198,789 N\24,850
O=dEE 49 223 A& 173,939
=2 =& X& 226,800 226,800 0
308 AFAIEHMSOIE 226,800 226,800
01 AXEH B EES 226,800 226,800
Oz=2 =g A& 226,800
THS g X&A(=1) 2,849,010 3,178,727 A329,717
= 2,420,097
== 428,913
308 AHXIEMSOIE 2,849,010 3,178,721 A329,717
= 2,420,097
< 428,913
01 HAHHBSEEXS 2,849,010 3,178,727 AN329,717
O7Ng &g K& 2,849,010
= 2,420,097
= 428,913
SSEHE 2F(=1) 1,538,413 1,517,052 21,361
Il 1,282,011
=S 256,402
308 XXM SOl 1,538,413 1,517,052 21,361
Jl 1,282,011
< 256,402
01 XN B2 LS 1,538,413 1,517,062 21,361
O=ssgNt 24 1,638,413
) 1,282,011
S 256,402
Y MESIOt HASHH XE 63,000 63,000
308 AXIHMSO0IA 63,000 63,000
01 XN EES 63,000 63,000
O=Z AM=sTt HASZH X2 63,000
SOt MHEAS ASAE- HHl X2 47,790 53,571 Ab,781
403 X SHHMSAH=01H 47,790 53,571 Ab,781
01 AXISHHA =22 & 47,790 53,571 N5, 781
OsIt HHLESAE A=SAIE- EHl X2 47,790
2 dYsIE FHS BAUEES A=t N&H 233,160 231,800 1,360
202 04dl 8,160 6,800 1,360
01 2L AL 8,160 6,800 1,360
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AN SSYH
A JIRMEY FFS 2 ol B2 JBRF (sl b/ sY - sE)
Rl IIEEY =4 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
O7HS HAES =4 8,160
308 AXIMSOIA 225,000 225,000
01 XN BSEES 225,000 225,000
OA LSt PG WAZE A=t X2 225,000
ISAMAIMEl XIAOISHSX 22l - 28)(=12) 761,250 166,025 595,225
= 525,000
= 236,250
308 AXIHMSO0IA 761,250 166,025 595,225
= 525,000
= 236,250
01 AXHNBE2ES 761,250 166,025 595,225
OJNEAMAMel X OI=SX 22| - AF) 761,250
= 525,000
== 236,250
2 st 2822 NH 29,740 40,992 A11,252
308 AtXIEMSOIE 29,740 40,992 A11,252
01 HXSHHBAEEXS 29,740 40,992 A11,252
04 =sIt 2822 A& 29,740
F2AA H=us X2 10,000 10,000
307 212+01& 10,000 10,000
02 LB HANHEE 10,000 10,000
O==2IAt H=u= X2 10,000
LdESIH ASE EE2te| X2 48,000 77,700 29,700
403 MR SHHMSAH=01H 48,000 77,700 29,700
01 AXISHHA 22 £ 48,000 77,700 A29,700
Og=EsIt ASF 2| X2 48,000
)‘jo*oﬁ:'i}%k 2 ZEIAMEH S N (HELSEL) (22 412,750 284,700 128,080
= 317,500
= 95,250
403 AXIEHHSAH=201H 412,750 284,700 128,050
= 317,500
= 95,250
01 AXISHHA=2EXE 412,750 284,700 128,080
oo U HHAARY S NA(HEA
L) 412,750
= 317,500
< 95,250
=28 HgAAE 1= 36,300 36,300 0
308 AtXIEMSOIE 36,300 36,300
01 HAHHBSEXS 36,300 36,300
OJI=Z2Y HTAILE 25 36,300
IIRXGY 2HsI 4 L ASHE N (=21) 225,714 0 225,714
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SN S
A JIRMEY FFS 2 ol B2 JBRF (sl b/ sY - sE)
Rl IIEEY =4 (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
7l 200,000
=S 25,714
308 XXM SO0IH 225,714 0 225,714
Jl 200,000
== 25,714
01 XN BSELES 225,714 0 225,714
OI=EEE Ll 8 & ASoHE X
el 225,714
Jl 200,000
= 25,714
A JIEREEYE SAME AMZ HHEl X 100,000 0 100,000
308 AFAIEHMSOIE 100,000 100,000
01 AXEH B2 LS 100,000 100,000
OHXl JIENEE M A= THHH X 100,000
BlisE 25 - 22 9,231,539 3,672,139 5,559,400
= 427,170
[ 600,000
= 8,204,369
S=2ES - 222X 3 X 112,000 112,000
308 XXM SOIA 112,000 112,000
01 XN B2 LS 112,000 112,000
Os=22s - 2223 XN 112,000
F4 - }IISS8 2H X (=21) 21,645 21,645 0
= 16,650
< 4,99%
308 AHXIEMSOIE 21,645 21,645 0
= 16,650
= 4,99
01 AXEH B EES 21,645 21,645 0
O=4d - RIIS= gl XA 21,645
= 16,650
= 4,99
blels2 MUSE(MEAY) 30,600 51,000 220,400
403 AXIEHHSAH=0lH 30,600 51,000 220,400
01 AXISHHA 22 £ 30,600 51,000 A20,400
Bte{SE s0I8 Zd(d&) 30,600
S=25 - 22l - Mel XN 306,410 305,050 1,360
202 048l 8,160 6,800 1,360
01 2L A 8,160 6,800 1,360
S=SEsgF = 8,160
308 XXM SOIH 298,250 298,250
01 HXSHH B EES 298,250 298,250
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SN S
A JIRMEY FFE 2 ol B2 JBRF (sl b/ sY - sE)
el Bids=E B - 2 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| oss=s- @2 x2 1 298,250
24 - RIIS8 7= EsH NA(=1) 61,404 61,404 0
= 36,120
& 25,284
308 AHAIEMSOIE 61,404 61,404 0
= 36,120
= 25,284
01 AXEH B EES 61,404 61,404 0
Oo=4d - RJIs= #x - 254 X 61,404
= 36,120
= 25,284
2020l S43t =4l X (31) 418,880 218,240 200,640
= 190,400
< 228,480
308 AIXIHHISO0IA 418,880 218,240 200,640
= 190,400
== 228,480
01 HASHHBSEXS 418,880 218,240 200,640
0z120| 43t =4l X 418,880
= 190,400
= 228,480
ss23 - =X AlE X 30,000 30,000 0
403 X SHHMSAH=01H 30,000 30,000
01 AR A =2 £ 30,000 30,000
OsEE2s - =X AlE X2 30,000
BtsSE Xt EAY (2 D) 880,000 2,200,000 21,320,000
= 600,000
& 280,000
403 AXIEHMSA=Z0l1d 880,000 2,200,000 /1,320,000
[ 600,000
= 280,000
01 AXIE A= E £ 880,000 2,200,000 A1,320,000
OsE234H &x K& 880,000
= 600,000
S 280,000
=t ttelsE =23 &4 15,000 2,000 13,000
201 Ler23 | 2,000 2,000 0
01 At2teltl 2,000 2,000 0
o=2s M= 2,000
308 AXIHSOIA 13,000 13,000
01 HASHHBSEXS 13,000 13,000
Ottels= 2ot&8A K& 13,000
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SN S

A JIRMEY FFE 2 ol B2 JBRF (sl b/ sY - sE)

Rl gesE 23 - 2al EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
M2 SHste2 R (31) 229,600 254,200 24,600

= 112,000
== 117,600
308 AtXIEMISOIE 229,600 254,200 A24,600
= 112,000
< 117,600
01 MASHHBSEEXS 229,600 254,200 A\24,600
OALMNSAH(DIEM) S&st=2 X2 229,600
= 112,000
= 117,600
PSS XIJAME HE X(HEAY) 7,000,000 305,000 6,695,000
403 X SHMSAH=01H 7,000,000 0 7,000,000
02 S 2SOttt =& 2 €A I 7,000,000 0 7,000,000
Otteiss XIAMH A X3 (S 7,000,000
0t SSESAME SZNEXE (2 D) 126,000 69,600 56,400
= 72,000
< 54,000
403 MR EHMSAHE01H 126,000 69,600 56,400
= 72,000
= 54,000
01 AXISHA=2 22X 126,000 69,600 56,400
OBIZHAIE)SEESAIE SHHANEXH 126,000
= 72,000
= 54,000
SME - oY =2 1,216,092 1,193,510 22,582
= 6,000
Jl 568,800
T 641,292
=42 HACCP ZIEE(2 D) 14,720 46,000 A31,280
Il 12,800
=S 1,920
308 XtXIEMSOIH 14,720 46,000 A31,280
Jl 12,800
== 1,920
01 XN BSELES 14,720 46,000 A31,280
OF¢&t= HACCP &8 X2 14,720
) 12,800
& 1,920
Setsor & HHE HACCP X1 41,205 74,010 A\32,805
202 04| 7,200 6,000 1,200
01 =LHOLI 7,200 6,000 1,200
OHACCP K13 R=2 7,200
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SN S
A JIRMEY FFS 2 ol B2 JBRF (sl b/ sY - sE)
Cholr EAZ Q1M - ORA P (SHol: )
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
308 XXM SOl 5,880 11,760 A5,880
01 XN BSELES 5,880 11,760 A\5,880
OXYE HACCP &8 X2 5,880
403 MR HHMSAHE01H 28,125 56,250 N28,125
01 AXISHHA= 2L 28,125 56,250 N28,125
OHACCP AIE - HHI S A& 28,125
NXIEH HuSMSAMTAIY 2E+2(=1) 12,000 12,000 0
= 6.000
= 6,000
301 2eEN= 12,000 12,000 0
= 6,000
=S 6,000
14 JIEt2 8= 12,000 12,000 0
OXXI S BoSMEAUZAZ 2+ 12,000
= 6,000
< 6.000
SNMENYY 4] JHd K& 121,500 151,500 30,000
403 AXIEHMSA=Z01d 121,500 151,500 30,000
01 MXIHHA 222 121,500 151,500 /30,000
O=st=2gE YLl e XN& 121,500
CEAAME A X (21) 926,667 910,000 16,667
7l 566,000
=S 370,667
307 lztol & 926,667 910,000 16,667
Jl 556,000
== 370,667
02 2B YAIHE £ 926,667 910,000 16,667
O==HAHE 21AH] X3 926,667
) 556,000
& 370,667
AFEYXCY AL IS XA 100,000 0 100,000
403 AXIEHHS =201 100,000 100,000
01 AXIEHM A= 2 £ 100,000 100,000
OAFEIXMIIY AlE HH X 100,000
AH2I3HI(SSLS W) (OIEHIIE 31,899 31,220 679
Jl=23H| 31,899 31,220 679
2AEg Jl=2d8l 31,899 31,220 679
201 et= 3| 21,801 21,772 29
01 At 22|l 21,801 21,772 29
FN2E AIR22/ 21,801
202 04| 6,498 5,848 650
01 =LHOLI 6,498 5,848 650
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